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Direction(1-3): Select the related word/letters/number from the given alternatives.

1. MUMBAI: UMBMIA :: GURUGRAM : ?
(a) RUGUMARG
(b) UGURRGMA
(c) UGURGRMA
(d) UGRURGAM

2. 30:16::24:7
(a) 14
(b) 13
(c) 20
(d) 25

3. ZYX: ABC:: VUT :?
(a) EFG
(b) FGH
(c) DEF
(d) CDE

Direction(4-6): Select the odd word/letters/number/number pair from the given alternatives.
4. (a) KP
(b) DW
(c)GT
(d) Cw
5. (a) 306
(b) 270
(c) 132
(d) 240
6. (a) Dog
(b) Cat
(c) Goat
(d) Lion
7. Arrange the given words in the sequence in which they occur in the dictionary.
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i. Drama

i Dramatica SSC CHSL

iii. Dramaticism

iv. Dramality TIER-I

v. Dramatise
()i, iv, i, iii, v Memory Based Package

* Based on Papers of
1%, 2™ & 3" July 2019
e (1+2) Full Length Mocks

A series is given with one term missing. Choose the correct

alternative from the given ones that will complete the series.

PRQ, TVU, YAZ,?

(a) BDC

(b) EGF

(c) DFE

(d) EFG

In a certain code language "GASTRIC" is written as "UCIREKT". How will "DECEIVE" be written in

that code language?

(a) ACBCCTG

(b) ACACCTG

(c) EGFCGXK

(d) BFCCTGL

In the following question, select the missing number from the given series.
9 8 5
6 6 7
3 ? 3
5 7 4

(@) 9

(b) 4

()8

(d) 2

A piece of paper is folded and punched as shown below in the question figures. From the given

answer figures, indicate how it will appear when opened.

gasasissaseinian . &
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X
X

X
D4
X

(c)

(d)

X
X

In the following question, which one set of letters when sequentially placed at the gaps in the given
letter series shall complete it?

_cca_a_ca_ac_ab

(a)abcbc

(b)abcbb

(c)abbcc

(d)abccb

From point A, Ram moves 100m in northeast direction, he again turns and moves 100m in southeast
direction. He again turns and covers 100m southwest and finally covers 100m in northwest
direction. In which direction is he now with respect to A?

(a) West

(b) Southwest

(c) At point A

(d) East

Pointing a man, Suraj says, "He is the son of the sister of my father's wife". How is that man related
to Suraj?

(a) Father

(b) Brother

(c) Cousin

(d) Nephew

If a mirror is placed on the line XY, then which of the answer figures is the right image of the given
figure?

- X
W b
"'.'.l
I ; ]
N\
D I 3
(a)
5 - -
:
i xw_
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(b)
D -
AL
(Cﬂ | F 4 Nk
:jj @) SSC CGL 2018-19
L =" TIER-II
(d)
s @ QUANTITATIVE APTITUDE
: 20 Full Length Mocks
48

(a) e

(b) v

(c)o

(d)c

2,7,16,7,46,67

(a) 26

(b) 27

(c) 29

(d) 31

In the following question, two statements are given each followed by two conclusions I and II. You
have to consider the statements to be true even ifthey seem to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any, follows from the given statements.
Statements:

(I) Some bags are hot.

(I1) All hot things are cakes.

Conclusion:

(I) All cakes are bags.

(II) All bags are cakes.
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(a) Conclusion I follows
(b) Conclusion II follows
(c) Neither I nor II follows
(d) Both I and II follows
19. The following equation is incorrect. Which two signs should be interchanged to correct the
equation?
26-2x30+6+16=20
(a) +and x
(b) - and +
(c)xand -
(d) +and -
20. If3!5=30,6!1=12and 5!8 = 80, then find the value of 212 =?
(a) 28
(b) 12
(c)8
(d) 32
21.  Which of the following cube in the answer figure cannot be made based on the unfolded cube in the
question figure?

+ SSC CHSL
%! o [AB[O TIER-I

@ Memory Based Package

(a) * Based on Papers of
< 1% July 2019
* ¢ o One Full Length Mock
(b)
e
()
Y
(d)
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|
A word is represented by only one set of numbers as given in any one of the alternatives. The sets
of numbers given in the alternatives are represented by two classes of alphabets as shown in the
given two matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and that of Matrix-
Il are numbered from 5 to 9. A letter from these matrices can be represented first by its row and

next by its column, for example ‘B’ can be represented by 41, 32 etc. and ‘Z’ can be represented by
57, 98 etc. Similarly, you have to identify the set for the word ‘FARM’.

Matrix-I Matrix-II
01234 5/6(7]|8|9
0|T IB|A|G]|] 5/1Y|Y|Z|U|Q
1/C/H|G|C|M 6|/ Y|Y|U|O|V
2/H|F |1 |G|M 71Q1Y[Q|X|X
3|C|K|B|A|F 8/0|/T|P|O|R
4|/ F|B|F|G]|] 9|V|U|X|Z|N

(a) 23,69,13,87
(b) 21,33,89,24
(c) 20,97,12,65
(d) 14,79,32,65

Direction(23); How many triangles are there in the given figure?

23.

24.

25.

/ \
AVZANAY
(a) 16
(b) 18
(c) 20
(d) 24
Mayank remembers that the examination is after 18th December but before 21st December, while
Suraj remembers that the examination is before 24th December but after 19th December. On which
date of December is the examination?

(a) 20

(b) 21

(c) 19

(d) 22

In the following question, four groups of three numbers are given. In each group the second and
third number are related to the first number by a Logic/Rule/Relation. Three are similar on basis
of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

(2)(4,12, 16)

(b)(5, 15, 20)
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(c)(6,18,30)

(d)(9, 27, 36)

ICC world cup started in which year?
(2)1976

(b)1975

(c)1983

(d)1967

Mohiniattam is the dance form of which state?
(a) Andhra Pradesh

(b) Tamil Nadu

(c) Kerala

(d) Karnataka

Who is the Chief Minister of Sikkim?
(A) Nar Bahadur Bhandari

(B) B. B. Gurung

(C) Prem Singh Tamang

(D) Pawan Kumar Chamling

Who is appointed as first lokpal of India?
(a) Pinaki Chandra Ghose

(b) Sanjay Kishan Kaul

(c) Ashok Bhushan

(d) Adarsh Kumar Goel

The first search engine created was ?

(a) Archie

(b) Jughead

(c) Veronica

(d)None of the above

Chattisgarh share boundary with which of the following state?
(a)Bihar

(b) Maharashtra

(c)West Bengal

(d)Andhra Pradesh

Sharath Kamal is related with which sports?

(a) Wrestling

(b) Table tennis

(c) Archery

(d) Basketball

Which act ended the "Trade Monopoly" of the East India Company?
(a) Regulating Act of 1773

(b) Pitt's India Act of 1784

(c) The Charter Act of 1833

(d) The Charter Act of 1813
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The second session of Indian National Congress was presided over by-
(a)Ganesh Agarkar

(b)Surendranath Banerjee

(c)Dadabhai Naoraji

(d)Pheroz Shah Mehta

Who among the following Mughal Emperors wrote his autobiography in Persian?
(a) Babar

(b) Akbar

(c) Jahangir

(d) Aurangzeb

Which one of the following is the highest gravity dam in the world?

(a) Beas Dam

(b) Nangal Dam

(c) Bhakra Dam

(d) Hirakud Dam

Which of the following planet is also known as 'Earth's twin'? & taegpgefi:g

(a) Mercury

(b) Venus ©) SSC CGL 2018-19
(c) Jupiter TIER-II

(d) Saturn

Part of XVII of India Constitution deals with _____.

(a) Elections ENGLISH LANGUAGE

(b) Official language
(c) Panchayat

20 Full Length Mocks
(d) Fundamental rights

Which Schedule of Indian Constitution was added by the 74th
Constitutional Amendment Act?

(a) Ninth Schedule

(b) Tenth Schedule

(c) Eleventh Schedule

(d) Twelfth Schedule

"World Economic Outlook” report is published by which of the following ?
(a) IMF

(b) World Bank

(c) RBI

(d) UNCTAD

Which one of the following countries is not a member of the "BRICS" group?
(a) Brazil

(b) Russia

(c) China

(d) Indonesia

Salivary amylase breaks down ______

(a) Protein

(b) Water
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(c) Starch
(d) Fats
43. Which of the following represents the pair of sex chromosomes in women?
(a) XY
(b) XX

(0 YY

(d) None of these
44. Who coined the term ‘protoplasm’ for the fluid substance of the cell?

(a) Ro

ber t Hooke

(b) Robert Brown

() J.E
(d) M.

Purkinje
Schleiden

45. Whatis the fundamental unit of amount of a substance?
(a) Mole

(b) Ca

ndela

(c) Kelvin
(d) Meter

46. Sea se

ems blue due to-

(a) Excess deepness
(b) Reflection of sky and scattering of light by the drops of water
(c) Blue colour of water
(d) Upper layer of water
47. Who formulated ‘the atomic theory’ of a matter?

(a) Av

ogadro

(b) Dalton
(c)Newton

(d) Pa

scal

48. Which of the following type of medicine is used for treating indigestion?
(a) Antibiotic
(b) Analgesic

(c) An

tacid

(d) Antiseptic
49. Which of the following is an example of thermoplastics?

(a) Ba

kelite

(b) Melamine

(c) PV

C

(d) No option is correct.

50. Electrons can be deflected by which of the following?
(a) Only magnetic field
(b) Only electric field

(c) Bo

th magnetic and electric field

(d) No option is correct.
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P and Q can do a project in 60 and 30 days respectively. In how many days can they complete 90%
of the project if they work together?

(a) 9 days

(b) 27 days

(c) 36 days

(d) 18 days

When a discount of 20% is given on a monthly train pass, the profit is 44%. If the discount is 29%,
then the profitis ___.

(a) 73 percent

(b) 118.2 percent

(c) 17.4 percent

(d) 27.8 percent

Reduce 2530/1430 to lowest terms.

(a) 47/17

(b) 23/13

(c)47/19

(d) 29/17

The difference between simple and compound interests compounded annually on a certain sum of
money for 2 years at 18% per annum is Rs 81. The sum is__.

omoe SSC CHSL
() Rs 10000 TIER-I
(d) Rs 7500

If cos AcotA/ (1-sinA) =x, then the value of x is Memory Based Package

(@) 1-cosecA
(b) 1 + cosec A * Based on Papers of
(c)1+secA 1%, 2™ & 3" July 2019

(d)1-secA e (1+2) Full Length Mocks

The income of a person is Rs 45000 and his expenditure is Rs
33000. If his income is increased by 22% and expenditure in
increased by 11%, then what will be the percentage increase in his savings?

(a) 11

(b) 45.75

(c) 22.15

(d) 52.25

In ADEF measure of angle E is 90°. If cos D = 8/17, and DE = 16cm, then what is the length (in cm)
of side DF?

(a) 30

(b) 20

(c) 26

(d) 34
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The curved surface area and the slant height of a right circular cone are 858 cm? and 13 cm
respectively. Find its diameter (in cm).

(a) 21

(b) 42

(c) 84

(d) 63

Two trains are moving in the same direction at the speed of 35 km/hr and 71km/hr. The time taken
by faster train to cross a man sitting in the slower train is 48 seconds. What will be the length (in
metres) of the faster train?

(a) 540

(b) 420

(c) 480

(d) 660

If x = B*2 and y = =2 then find the value of x2 - y2.

V5-1 V5+1
(a) V5
(b) 2v/5
(c) 3V/5
(d) 45
Find the greatest number among (2)§, (3)%, 1, (5)%.
(a) (23

1
(b) (3)2
(91
1
(d) (5)s
Find the value of 27a3 + %, if 9a% + % =43
(a) 240
(b) 280
(c) 320
(d) 360
In a mixture, water and milk are in the ratio of 3 : 5. In the second mixture, the ratio of water and
milk is 9 : 11. If these two mixtures be mixed to form a new mixture in which water and milk are in
ratio 5 : 7, then what is the ratio of these two mixtures in the new mixture?
(@)1:2
(b)3:2
(c)4:5
(d)4:7
The average of 10 numbers is 30. If at the time of calculation one number was wrongly taken as 36

instead of 69, then what will be the correct average?
(a) 33
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(b)33.3
(c) 36
(d) 39
A shopkeeper purchased a chair whose marked price is Rs 1400, at two successive discount of 20%
and 30% respectively. If he sells the chair for Rs 1176, then what is the profit percentage?
(a) 50
(b) 33.33
(c)37.5
(d)57.5
X is 25% more efficient than Y. If Y alone can make a chair in 10 days, then X alone can make the
chair in how many days?
(a) 8
(b) 12
(c)12.5
(d)7.5
What is the sum of the measures of all the interior angles of a regular polygon of 6 sides?
(a) 1080
(b) 1260
(c) 1440
(d) 720
2 sec2A is equal to
(a) (1-tanA)2- (1 + tanA)2
(b) \/[(1 — tanA)? + (1 + tanA)?]
adda 241
(©) J[(1 — tand)? — (1 + tanA)?] & B testseries

(d) (1 -tanA)2+ (1 + tanA)?
In ADEF, G and H are points on side DE and DF respectively. GH is g{gy iISE(i'{(i:IGL 2018-19
= =

parallel to EF. If G divides DE in the ratio 1:3 and HF is 7.2 cm, find -

length of DF?
(a) 2.4 cm QUANTITATIVE APTITUDE
b) 4.8 cm
EC)) 36 cm 20 Full Length Mocks
'
(d) 9.6 cm

Which of the following quadratic equations has real roots?
(@) 4x2-7x+5=0

(b)5x2-11x+7=0

(c)5x2-11x+8=0

(d) 2x2-7x+5=0

What is the value of sin 51t/3?

(a) -v3/2 (b) 2/v3

() 1/v3 (d)-2/v3
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5 2 3% .ot : )

5; + [2 = {3:(3; +9 2)}] is equal to:
(a) 44/7
(b) 7
(c)43/6
(d) 22/3

73.  The bar graph shows 1 month’s sales figures of different brands of mobile phones of a certain

electronics store in Rs. 1000s. Study the diagram and answer the following questions.

Sales (in Rs 1000s)

m ‘w
450 390
400
350
300 - 280
250
200 160 140
150 100

% b

ol BN BN BN B B B
A ] C D E F G
Mobile phone brand /'

Sales of which mobile phone brand were the second highest?
(@) G
(b) A
(0B
(d)E
74. The bar graph shows 1 month’s sales figures of different brands of mobile phones of a certain
electronics store in Rs. 1000s. Study the diagram and answer the following questions.

Sales (in Rs 1000s)
500 460
450 390
400
350
300 - 2%
250
200 160 140
150 100
s a
gl BN BN BN BN B B
A ] [~ D E F G
Mobile phone brand /'

What is the ratio of sales of brand 'B' to that of brand 'C'?
(@)1:4
(b)7:2
()2:7
(d)4:1
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75. The bar graph shows 1 month’s sales figures of different brands of mobile phones of a certain
electronics store in Rs. 1000s. Study the diagram and answer the following questions.

Sales (in Rs 1000s)

500 460
450 390
400
350
300 280
250
200 160 140
150 100

: g

ol @ a B
A B C D E F G
Mobile phone brand /'

Sales of brand E was greater than that of brand D by
(a) 0.375

(b) 0.6

(c) 0.575

(d)o.3

Directions (76-77): In the following questions, sentences are given with blanks to be filed in with an
appropriate word(s). Four alternatives are suggested for each question. Choose the correct alternative out
of the four as your answer.
76. We will have to atone our misdeeds.
(a) at
(b) on
(c) for
(d) with
77. Had you told me earlier | the meeting.
(a) had attended
(b) have attended
(c) attended SS C C H S L
(d) would have attended TIER-I

Direction (78-79): Improve the bracketed part of the sentence.
78. Why should we (bothered)?

(a) bother * Based on Papers of
(b) bothering 1% July 2019

EZ)) tlil)ob;)r:;‘?(‘)vement « One Full Length Mock

Memory Based Package

79.  She (starts walks) without responding.
(a) start walking
(b) started walking
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(c) starting walking
(d) No improvement

Direction (80-81): In these questions some parts of the sentences have errors and some have none. Find
out which part of a sentence has an error and indicate it corresponding to the appropriate letter. If there is
no error, indicate corresponding to the last option.
80. There are many (A) / beautiful furnitures (B) / in the room. (C) / No error (D)

(a) A

(b) B

(c)C

(d)D
81. The policeman prevented us from (A) / entering into (B) / the hall. (C) / No error (D)

(@) A

(b) B

(c)C

(d)D

Direction (82-83): In the following questions, out of the four alternatives select the alternative which best
expresses the meaning of the idiom/phrase.
82. Leave no stone unturned

(a) To discourage

(b) To accept defeat

(c) To make every possible effort

(d) To be able to grasp the hidden meaning
83. Herculean task

(a) Important task

(b) Effortless task

(c) Optional to do

(d) Very difficult task

Direction (84-85): Out of the four alternatives, choose the one which best expresses the meaning of the
given word.
84. Inevitable
(a) Certain
(b) Superficial
(c) Applicable
(d) Preventable
85. Adverse
(a) Brittle
(b) Unpleasant
(c) Flexible
(d) Auspicious

Direction (86-87): In the following questions, out of the four alternatives, select the word opposite in
meaning to the word given.
86. MALAISE
(a) Trouble
(b) Well-being
(c) Depression
(d) Enervation
87. ELUDE
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(a) Dodge
(b) Supgort
(c) Thwart
(d) Flee

Direction: In these questions a sentence has been given in Active/Passive Voice. Out of the four alternative
suggested below, select the one which best expresses the same sentence in Passive/Active Voice.
88. We are looking at the game.

(a) The game is looked by us.

(b) The game is being looked by us.

(c) The game is being looked at by us.

(d) The game has been looked at by us.

Direction (89-90): In each of the following questions, choose the correctly spelt word out of the given

alternatives.

89. (a) Eagle
(b) Eagel
(c) Egale
(d) Eaegle

90. (a) Embarasment
(b) Embarassment
(c) Embarrasment
(d) Embarrassment
91. A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the
one which best expresses the same sentence in Indirect/Direct Speech.
Nidhi said to me, “What are you cooking?”
(a) Nidhi enquired about my cooking.
(b) Nidhi asked me what I was cooking.
(c) Nidhi wondered if [ was cooking.
(d) Nidhi ask what I was cooking

Directions (92-93): In the following question, out of the four alternatives, select the alternative which best
expresses the meaning of the idiom/phrase.
92. Atthe eleventh hour
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(a) At the last moment addaay

(b) Very late at night. & & testseries

(c) Atavery odd time.

(d) Luckily have sufficient time to wrap up things.

93. The nitty-gritty

(a) The low level dirty job which is left to the lowermost
subordinates.

(b) Those with grit and determination will not be defeated. ENGLISH LANGUAGE

(c) Some people are born tough.

(d) The most important aspects or practical details of a subject
or situation.
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94. Rearrange the parts of the sentence in correct order.
After dinner, my
A-the kitchen and offered to show
B-me what a dishwasher was
C-hostess followed me into
(a) BCA
(b) BAC
(c) ACB
(d) CAB
95. Rearrange the parts of the sentence in correct order.
Logo centrism is the search for a
P : rational language that is able to
Q : all its aspects perfectly and accurately
R : know and represent the world and
(a) RPQ
(b) PQR
(c) QPR
(d) PRQ

Directions (96-100): In the following passage, some of the words have been left out. Read the passage
carefully and select the correct answer for the given blank out of thefour alternatives.
The new civilisation of Righteousness and ___96 , and therefore of Brotherhood, of ordered Liberty,

of Peace,of ___97_____, cannot be built up until the elements are removed 98 have brought the
old civilisation crashing about our ears. 99 it is necessary that the War shall be fought out
to its appointed end, and that 100 premature peace shall leave its object unattained.
96. Righteousness and , and therefore of Brotherhood,

(a) judge

(b) judgments

(c) Justice

(d) Judiciary
97. Peace, of , cannot be built up u

(a) Happy

(b) Happier
(c) happiest
(d) Happiness
98. elements are removed have brought
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(a) what
(b) when
(c) which
(d) where
99. crashing about our ears. it is necessary
(a) If
(b) Because
(c) Why
(d) Therefore
100. appointed end, and that premature peace
(a) not
(b) nor
(c) no
(d) never
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